ES LESEN
ES GEBEN
DU SEHEN
DU WERFEN
ES SINKEN
SIE LESEN
ES HALTEN
ES SINGEN
ES FANGEN
ES MESSEN
IHR GEBEN
ES FRIEREN
ES TREFFEN
DU STERBEN
SIE FALLEN
IHR FALLEN
SIE SINGEN
IHR LUGEN

ES SPRECHEN

SIE STEHLEN
IHR STEHLEN
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Das Imperfekt (strong verbs)
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ES RUFEN
DU GEBEN
DU RUFEN
DU MESSEN
ES LAUFEN
ES WERFEN
ES FALLEN
ES LUGEN
SIE SEHEN
ES LASSEN
IHR SINGEN
DU TREIBEN
IHR WISSEN
IHR MESSEN
IHR WERFEN
IHR LAUFEN
ES STERBEN
ES RIECHEN
SIE WACHSEN
SIE ZWINGEN
IHR RIECHEN
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ES ESSEN
ES SEHEN
IHR LESEN
IHR ESSEN
DU LUGEN
ES FINDEN
IHR SEHEN
DU LAUFEN
DU FALLEN
ES RINNEN
SIE LUGEN
SIE LAUFEN
IHR FANGEN
SIE WERFEN
ES TREIBEN
DU TREFFEN
ES STEHLEN
ES ZWINGEN
SIE STERBEN
IHR TREFFEN
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SIE SPRECHEN



IHR SCHLAFEN



DU SCHWINGEN



DU SCHREIBEN
SIE SCHLAFEN



Solution




